101.

102.

How many electrons are there in one coulomb charge?
(A) 1.6x107"° electrons

(B) 6.25x10" electrons

(C) 6.25x107'® electrons

(D) 1.6x10" electrons

1 aagmd Wengyn’_ L slev 2 _crer cravsL_grensafien cramreanflsons aggmm?
(A) 1.6x107" arewal grenser

B  6.25x10"® aredl_yrenser

(©)  6.25x107"® qrevs_grensar \

(D) 1.6x10" aes  grenser \

A bullet of mass 15 g is horizontally fired with velocity 100 ms! from a pistol of mass 2 kg.
Total momentum of the pistol and bullet before firing is equal to

(A) zero

(B) 201.5 kg ms-1
(C) 215kgms!
(D) 200 kg ms!

15 &gmb Blewpujerar gjuprréﬁ e 100 Bel! Ceaussdla HeLwlLiwrs s&lLBEDE.
souTESar fap 2 H8 aald sPasHE W gULNES wHDIb Gar® Auapdda Qwrss 2 Hab
aremen?

@ s

(B) 2015484 Se?

(C) 215 &4l Se-!

(D) 200 £ Bed-
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103. What is the chemical name of DDT?
(A)  Dichloro diphenyl trichloro ethane
(B)  Dichloro diphenyl tribromo ethane
(C) Diphenyl dichloro trichlo.ro ethane
(D) Diphenyl dibromo trichloro ethane
DDT-ulér CaufliQuuwsir ereten?
(A4)  eoLECamCrr e Semand yeyECamGrr rsCaen
B oLgCeamCrr e iSenanad g egyCrrGlon rEGCae
©) e demad oL @GamGyr yamy@CamGyr r5Cser
D)  eSead eayCrmCur gereSamCyr & Gpen

\
104. W’hat are Microsporum, Epidermophyton?

(A) Disease causing bacteria in man
(B) Disease causing fungi in man
(C) Disease causing virus in man

(D)  Disease causing protozoans in man

anw&CrrevCumyib, er9QLrGuwriemul L rer wreneu?
A)  wvelgafle Crmi ghu@SSID LrseAurssdr
(B) wefisafler Crmi THUBSSID L EhanaseT

(©) maﬂgéﬂé: Crpmis gHuBSSHID eeupavseT

D) wvelsefld Comi ghu@ssibd YCIT CLrGsreunssdr
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105. Ovulation is stimulated by

(A) LH
(B) LTH
(C) Renin

(D)  Adrenalin

S e b el HLBSmes SNaT{HLD anrirGome
r A LH

(B) LTH
(©) Gyafie

DY el

10_6. Which gymnospermic plant cures rheumatism?
(A) Araucaria
(B) Ephedra
(C) Gnetum
(D) Pinus

YPL&@ aurgsmg &l Geul Lweu@b gibCearmavQuiid sreurib erg)?

A <owsCsfium

B) eQigr

©)  Brin

D) eueren
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107. A special root-like structure in cuscuta and viscum is called
(A) Rhizoids
(B) Haustoria

. (C) Hyphae

l : (D) Stolens

gduégLLw. eflevgd Cunenm greugmsafies  sremruu@b  Aplurer  Ceurser @é.:surrg,
l I 2iesaliubhElerman. |
(A) Geauflger _
]I BY apmevCLmflwrsser

(C) ewaplumdser

D) ewCLrever

108. Which of the following is observ.e’d as “Naﬁonal Girl Ch]ld Day” ?
(A) 8% January
(B) 21t January
(C) 220 January
(D) 24t January

2 @& QuaT GHmSEEr Hab aﬂ@uﬁg 2igeflastiu®Eng?

(A) gereufl8

B) gereufl 21
(C) gemeufl 22
D) geneufl 24
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109.

110.

Which of the following was discovered by ONGC in the Indian Ocean on 26 July 20167

A)
(B)
©)
(D)

Hydrated Methane
Hydrated Benzene
Hydrated Ether

Hydrated Octane

erareniil LHMID GuHens euru| Hipeueand Spsear_cupnier aThss saflogas @bt Qumris_ald

1O 26/2016-6 sy S551?

(A)
B
©
D)

BCypob Qupp BECse
BCrHmd Qupn Guender
BCrppd Qupm FETSeT

BCromb Qupm 2,&CL 6

e

o

\\\

!

Which Bill was passed in the Parliament of India in 2016 to adopt Uniform Tax of States?

(A)
®)
©
D)

Goods and Sales Tax
Goods and Service Tax
Direct Tax

Indirect Tax

aps wCsrgr @BHw umgmepwapsHod 20160 BrH pueugd @Cr eafd &fuyssts

BepCauppriiLg?
(A) Qummlser wHmD elhuemer cufl
By er8@ vy Caama aufl |

©

D) -

Cpiraps eufl

wepps eufl
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111. Which State Governor was appointed as Tamilnadu Governor additional-charge i
September, 2016?

(A) Kerala
(B) ' Karnataka
. (C) Maharashtra

(D) Madhya Pradesh

I I eThs rBleddler < EmbT g@@pn@ wrflwsdar am@Esd QUL @yE5HrTs Qatibui 20164
uged gHoTi? ;
| (A) CGapgerr

l I B) siBTLST

© Loasrrund%tq-urr
D) - wsHw ArCssd

_[ 112. Which Musician was honoured in August 20186, by United Nations Organization for he

contribution to music?

(A M.S. Subbulakshmi
(B) Asha Bhosle

(C) Lata Mangeshkar
(D) M.S. Rajalakshmi

savL g, 2016-6), pédlu prEser sl arhs Qmes smaEhT Gamusﬂéasﬁuf.@m‘r?
Ay  M.S. stiyel s

B) ayr CumevGev

(C) - wsrRGsaysT

(D) M.S. gyrgel sl




114.

Identify the 2016 Dhronacharya Awardee

A)
®)
©)
D)

2016-y1bd parnig e ‘gCrrarmmaniwn’ eflmg Qubpeui Geumdler wi?

(A)
(BY
©
D)

The Asian Junior Chess Championships, May 2016 was held at

N
,
.

A)
B)
©
(D)

2w 9aflwir Qsev smbiGwenais Cum iy, G, 2016-6 6@ BenLLiGLDDS?

(A)
®)
©)
D)

Bishweshwar Nandi
Lalitha Babar

Rani Rampal

P.V. Sindhu

e Couaigeurm BHS
QedlSm LimLT
@rmewfl FrbLITed

9.6 flbg)

Chennai
Mumbai
Kolkatta
New Delhi

G Ferrenaer
(pLoeou
QamevsL_LT

L&l QLevedl
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115. Which country’s Badmmton player was defeated by P.V. Sindhu in the semi-finals at &

Rio 2016 Olympic games?
(A) Spain

(B) America

(C) Africa

(D) Japan

2016 MAGwr @ellb9é Curiguid, S@pipdl Curlguiear Gurg P.V. éflpg THS B

L AT sigrasmearanwis CoTHHGSSTT?

Y
B)
(©)
)

In July 2016, Theresa May was appointed as the

evELuG e
2Qf&sT
< Ubf&asm

WML (24

UK (Britain).
(A) first
; (B) second
(C) tenth
(D) sixth

o9me 2016-& Qgrevr Guouwl eremueur 1AM L gyent w

AudEsiug L.
A  wpge

®) @ram_mb
© ussreug
D)  preg

GRFT3
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117. The Third Asian Ministerial Conference on Tiger Conservation 2016 was held
(A) From April 9th to 12t 2016 at Orissa
(B) From April 14t to 17t 2016 at Calcutta
(C) From April 11t to 14t 2016 at New-Delhi
(D) From April 6t to 9t 2016 at Mumbai

1 2016-a yedls urgisTiLS HULb GhSe epanrag A S@wssToe sl embs eruGumg
perLduHDE?
(A) 2016 gflgmelley, griuged 9‘@§® 12 apigws

! (B) 2016 Qamevagsreile, gy 14 apsed 17 apigw
(Cf 2016 usB@alie, gired 11 wsd 14 apgw

(D) 2016 gpibeniuded, griured 6 upged 9 pig

118. Indian Constitution Drafting Committee’s Chairman
(A) Dr. Rajendra Prasad
(B) Jawaharlal Nehru
(C) Dr. B.R. Ambedkar
(D) Gandhi

@pHw Sl euemreys G(palen semaauir

A) s QurGmndly Grsms

(B) meuanieme Grm i
(@ s G.@yf. SwCugsni
D) smpd
= 35 GRFT3
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119. Which year the Constitution of India (61t Amendment Act) lowered the voting age fre
21 years to 18 years?

(A) 1988
l (B) 1987
| (C) 1986

D) 1985

THS GUHLLD @BHu 27w <siely sl (6laug Hmsss slLd) Uy aursgllan au

21 euwPmHEl 18 46 GonssIULL )7

TS A) 1988
B) 1987

©) 1986

| D) - 1985

120. Article 63 of the Indian Constitution refers to
(A) Vice-President
(B)  President
(C)  Prime Minister
(D) Governor

QA ol semwinder sragl 63 GHlUYGHaug

A) gwen G4 WTEHS SEeeuT

B) EywIs s@GIT .
(C) Qgsw wiA
D) yeEmmi

GRFT3 _ 38




Who is the chairperson of Niti Aayog?
(A) President

(B)  Prime Minister

(C)  Vice-President

(D)  Supreme Court Judge

B8 SCwiné-Garn seaeui wTi?
A)  Gywrs s

BY Qg wpHA

©) genew @Lq.u_l 78 SEQEUIT
D) oésfHweam FHud

122. The writ of Habeas Corpus is
(A) To safeguard people from illegal arrest

(B) The Petitioner who requires legal help to get his work done by respective Public
Authorities

(C) It probability a subordinate court from acting beyond its jurisdiction

(D) It prevents usurpation of a public office

< Qamenr £ Cuymenenr eremLig)

Ay slosdig Qg)Lburras &g Qe (phs EE®ET UTHISTSHH

B) damaliugisErsd L 2 g6l Jafisg Qurg Gersams LTgETESL
(C) gewanr 8 werpriser eumbL Bl QewiduBeums s G |

(D) Qung Sigeueshsmer a&Ardluy Qaucums saL CFligea

& 37 | GRFT3
[Turn over



e

123. Match the following :
(a) To eradicate the inequality in the society 1. Beliefs passed through the generatios
(b) Women depend on male companions 2. It proclaims the fame of
. Dr. Muthu Lakshmi
(¢) To stop the customs of child marriage 3. Social justice
(d) Cancer institute at Adyar 4. Prohibition
! I (a) (b) (c) (d)

A 3 1 4 2
By -2 3 1 4

il _ ). 3 4 2 3
D) 4 2 3 1

|
Fllwrs QuTBSSIs :
" A () seps gpn snpeysmen HaGauCs 1. asrerisTwTs LbHS cTarTaRTid
(b) Queir L aueny FrihGH eumpLIGUT 2. ' Dr. gl sfluden ysayp uriiyspg
©  ewbms dovarses 5058 Pnsgius 3. saps BE
(d) <erwury ydNCETL WHSSIeuLDEmEnN 4. geoL s LD
Qamer(® eupbSTiT
l (a) (b) (©) (d)
& 3 1 4 2
(B) 2 3 1 4
@€ 1 4 2 3
(D) 4 2 3 1
GRFT3 38
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125.

Which is known as the “Murmering Auditorium”?

A).

(B)
©)
D)

“PRYPEAEGD ATRISLD - T S@PEEUUHG eTEI?
A

Golkonda
Golkumbas
Gulberga

Jumma Masjid

CaraQsmamrLm

(BY Gasme@umev

©
@)

Which Mughal King killed the Sikh Guru Tegh Bahadur?

(A)
B)
©
)

E58w G CoRy Lagieny Aareme QFLG PSQMLI LOGTEITE WITHT?

GOUNST

DO G

Akbar
Aurangazeb
Shahjahan

Jahangir

A)  bui
B) gemrss
(©)  agmganen
@y gapribi

GRFT3
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- 126.

&

" 127.

(D) Maha Kasabar

GRFT3 40

The Pallava inscription at refers to a great musician Rudracharya.
(A) Kudumiyan Malai

(B) Mamandur

(C) Uthiramerur

(D) Mahendravadi

FHe0GleuL

HeRpupy Qs st emsdmerfiurt upH LdboeTsaTg
GOLG R Aeng.

GHOwrer wene

B)  wmoam@F

(©)  258rCwmi

D)  wCspdreumg

During the age of Kalabhras, a Jain monk who established Dravida Sangha at Madurs

was
(A) Vajranandhi .
(B) Parsava Munivar :

(C) Mahavir

sarLdyi sresild wgmruid Hrmell sissos THLRSSL swars s
@) cugdussd
(Byr
(C)  wamelyir

umfgeu pefleur

(D) w&rassur




The leading producers of jute in the world is

(A) India and Bangladesh

(B) Srilanka and Pakistan b
(C) China and Japan
(D) Singapore and Malaysia
2 adle Famred 2 HUSHuder emenenfluder 2 arer BB seT
\ & @sHur wpmb aukistarGseb
: (B) @ekems winb uTddsTer
(C)  Eenm YD QULTET
(D) é]rs'u&;t,"ne;,r'r wHmib wGadwir
129. Asteroids are found between
(A) Mars and Jupiter
(B) Earth and Mars
(C)  Jupiter and Saturn
D) Mefcufy and Venus
{, GnuCanaser QmasEnidaGL Si@wbsidTens)
| A)  Qsaiumiseh umpaéeh
B) ysEDb AsaiumibEb
€) eumpesEL salégd /
D) ysaseb Qeueraflsgid /
E 41 GRFT3
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- 130. Match the following :

(a) Kandla
(b) Jawaharlal Nehru
(©) Paradip
(d) Haldia

(a) (b) (©
A) - 3 2 4
B) 4 < 3
). 2 3 1
O 2 1 4
QuTmESs
(a) saw e
b)  gaaniersd Crm
(c) urnISL’J
d) apréfur

(@ (b) (0)
A 3 2 4

Cgtl | PR

©)
D)

GRFT3

2 3 1

2 1 4

Maharashtra
Gujarat
West Bengal

Orissa

LOSTTTESlg JLD
GRITS
ConE eumismemd

eflar

42




131. Match:

(a) Sathya Sodhak Samaj
(b) Jeeva Karunyam
(¢) Dharma Paribalanam
(d) Jeeva is Siva

(a) (b) (©
A) 2 1 4
B 2 4 3
© 4 1 2
)y 1 3 2
Qurpsss :
(a) &&w Cengs soTyDd
(b) gBeu smeTWILD
(© s uflureend
(d) gBeunCeu eur

(a) (b) (©)
@& 2 1 4
B) 2 4 3
) 4 1 2
D)1 3 2

=

Ramalinga Adigal
Jyotiba Phule
Swami Vivekanandha

Sri Narayana Guru

@rmweltis Bjq.&6r
Cgrglur yGe
seumbl ellGeusranpsm

I promwent @@
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132. Which year has a special significance in Indian Economy as far as Economic Reforms are

concerned?
A) 1952 -
(B) 1981
(<) 1 1991
(D) 2001

@pdu  Qurmermgmrges Gurpssaumrded aps Sl Cusgemss  SAEsHHG
WPEAWSFID UTLIHS GETDITELD?

& 1952
B) 1981
© 1991
(D) 2001

133. Where is the diamond cutting industry located in India?

(A)
B)

© |

@)

@pHurede emeaurbd SM&ED Agmipsreae ants mwbgieTars?

(A)
®)
©

oy

GRFT3

Lucknow
Surat
Ludiyana
Chandigar

w&Gam
&5
ndlwirenm

FEWTIg. QDT
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134.

135.

Net National Product is

(A)  Gross Domestic Product — Depreciation
(B)  Gross National Product — Depreciation
(C)  Net National Product — Depreciation
(D) Net Domestic Prdduct — Depreciation
Blay pr_® e-puss ez

(A) Qurgs e apr (2 pusd — Cauiomed
By Qursspri® a,g)ugﬁ - Cswiomend

©  fon pri® e pusf - Gainonend

D) MHareeapri® 2-pusd — Caliomed

When a person lives below the minimum subsistence level he is said to live in

@)
®)
©
®)

Absolute poverty
Relative poverty
Abstract poverty

True poverty

aurpaish® Caudng GoppsuLls asdaErsgs S6p @mel aumpd aupieLo Hlenawenws Gleueummy

FMEMLD

&)  ewLWTET aumenLo
(B) Ui aupenio

(C)  &m&s cumend

(D) o awend UMIENLD

45
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(B)
©

“ | '(D)

I
=t
|0
j el
|
o
1|
 TEBEEER g
+
e
»
3|
o == SO
8
=3
L)
',
S

| b
o 1
o

137. The population of a city in the year 2014 is 1,80,000 and increases at a rate of 20% per yes
Find the population of the city in the year 2016?

(A)  2,40,000
B) 2,59,200
(©)  2,55,000
D) 254,300

@ pa;ggg‘,]m wéser Ggrens 2014-é 1,80,000. @iz @aQeaurm <ar@n 20% Qu@@mrr
2016-2y1b (D WEsEr QBTens eremen? /

A)  2,40,000
@ 2,59,200
© 255,000
®) 254,300

GRFT3 . 46




3 — 25 here, which of the following number is suitable in —, so that the number will be a

perfect square? ;
. R | 3B) o
©C 4 D) 6

3= 25 erenp eraimenfier — GHUALL @)L S erbs erair GLIMLLILIL L) Big) (P(P GuiTéatd DG ?
A s 0 '
© 4 D) 6

139. The avei-age mark of 10 children is 80 then their total mark is
(A) 200 (B) 300
(C) 800 (D) 400

10 gyhamgsafien syraf wAUQUE 80 erafld seursafian Gwrés wHLIQ LT
(A) 200 (B) 300
@ 800 D) 400

140. A man and woman are engaged in a work. A man can do a piece of work in 4 days and the
woman can do in 12 days. Find how many days will they take to finish it together?

(A) 6days (B) 5 days
(C) 4days (D) 3days

R0 e wHYID @ Huar @naumb Csibs em Camamu Qaidprisdr. e g Caumaau

4 prisefld Geng apuiunt. @ Quar =G5 Cameowu 12 prisdld Qs @Ig LI,
<jeuGaumaemw @meambd Coibg ersgamen B sefld upiqIUmTadT?

(A) 6 priser (B) 5prisar
16y 4 BT &eir Dy 3 prser

47 GRFT3
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141.  Which of the following set of measurements will form a right angle triangle?

A) 6,9, 12
®) 5,8, 10

© 5,5 52
D) 3,4, 42

ECy QarHésriu L Sjereysafld ereneu GamGaram (psGaramsms DIDDEGLD?

A 6,912
@By 5,810
© 5,552
@) 3,4, 442

142.  The value of \/ 609 + J248 +1/60 ++7 + V81

@A) 20
B 25
© 16
D 9
Jsos + J248 +160+ 37 +481 &y
A 20
@ 25
€) 16
; (©)
@ 9

GRFT3




144.

The pricerof a house is decreased from rupees fifteen lakhs to rupees twelve lakhs. The

percentage of decrease is

@)  10%
(B)  20%
(C) 30%
O  40%

@0 oSl yen doma 15 Qalsb mumnddmhg 12 @olsd muTurss Gompbss aafld GODHS

g5635LD

A) 10%
(.B( 20%
(C) 30%
D) 40%

If 3(t-3)=5(2t+1) then t=?

@A -2
®) 2
0y -3
D) 3

3(t-3)=5(2t+1) erafled £ =2

@ -2
@ 2
© -3
1) -3

GRFT3
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The value of L72X1:75+2x1.75x0.75+0.75x0.75

P 1.75x1.75-0.75x0.75 _
@) 35
B) 6.25
© 1
D) 25
l | 1.75x1.75+ 2x1.75%0.75+0.75x 0.75 ar i
1.75x1.75-0.75x0.75

(A) 35

" @Y 6.25
15 ek |
D) 25

i.l
B 146. The value of 16° +7° -23° is

Aa) -7728
(B) 7028
(© 7728
M) -7718

16% + 7° - 23° er Ay

(A) - -7728
(B) 17028
(C) 7728
D) -7718

GRFT3 ' 50 |




- 148.

149.

Find the next term of 4 in the seriesis 1, 1, 2, 8, 3, 27, 4, ...
(A - 481 B) 29
(C) 16 D) 64

L1 2 8 3 27, 4,... earp Qzn_flen 4-95 21055 2 mitiy?

A 31 : B) 29

© 16 @Y 64

Three angles of a triangle are x — 30°, x — 45°, x + 15°, find the value of x.
(A) 60° (B) 40°
(C) 80° (D) 100°

- @m psCaramgglan apenn) Cararmiuser x — 30°, x — 45°, x + 15° erafléd x-am iy

& 60° B) 40°
(C) 80° ' D) 100°

The difference between simple interest and compound interest for a sum of Rs. 12,000 lent

at 10% per annum in 2 years, is
(A) Rs.80 (B) Rs.90
(C) Rs.120 (D) Rs. 100

m. 12,000-5@ 10% ey oigd eafle Grerd aanpsaie fosgb @lH wlgsE

saflau 1g&@D 2-¢rer eflFHumed
A m. 80 B) .90
(p)/ . 120 (D) . 100

GRFT3
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150. If you stand in a rectangular room, where two adjacent walls are covered with

mirrors, the total number of your images will be

(A) infinity
B) 1
{Cr. 3
D o
I l . @@ Qsdias A@puUid sugar ggaar AUIHSSILLL Gran® 2055085 FauTsHERsE QaLs

Rodpmis erafld, 2 ang Qs Gbuksafer eTaRTentlEan s eTHSMEn? :
@) apgeidd

| ® 1

=N g
D) o
!I
I 151. Audible range of rabbit is

(A) 100 - 32,000 Hz

(B) 1,000 - 1,50,000 Hz
(C) 1,000 - 1,00,000 Hz
(D) 900 - 2,00,000 Hz

pwellen Qeellujemnt QpHéEsD
(&) 100 - 32,000 Hz

(B) 1,000 - 1,50,000 Hz
(C) 1,000 - 1,00,000 Hz
(D) 900 - 2,00,000 Hz

GRFT3




152.

153.

Why vegetables and fruits turn brown on cutting?

(A)

B)
©
D)

Due to the reaction between phenolic compound and oxygen in air "
Due to the formation of inorganic compound !

Due to the formation of salts

Due to the formation of bases

sTUSHEET LMD Liprismar Ceail iy MeusEn Gurg Ly Sipwors wrpeuCger?

(&)
(B)
©
(D)

srihbaieTer 2y sedigar pmib emells Camob eflear |feugme
safl CauHQuTmeTEeT 2 (Heureusmea
2 UL|&&ET 2 (HeuTeuSTe)

SMIRISET 2_(HeUTEUSTE

Among the following which one is not a biofertilizer?

(A)
®B)
©)
@)

Anabaena
Nostoc
Lindane

Rhizobium

Wenaumeuaneupiiey erg) 2 udfl-2_7ib Sida?

@)

B)
(0%
@)

e e
BTEVL_TS
SlenGL_e

engGamAunbd

53 GRFT3
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154. Consider the statements :

(a) Sterility is caused by the deficiency of Vitamin K.
(b) Night blindness is caused by the deficiency of Vitamin D.

(A)  Both (a) and (b) are false
(B) (a) is false and (b) is true
(©) (a)is true and (b) is false
(D) Both (a) and (b) are true

EpsanL sapnsmer seuaf :
() @eCuméss Qewe Gepun( (wel HS gemeiw) el Lifler K geapelanme gpuBdns.
“ (b) wreedse Crmi meuﬁuﬂa’rr D @ség)aﬁlarrrrd; gouBng.

A)  (a) wpmd (b) Boupraneney
B (a) saup wppid (b) &

N : ©) (a) s wpm> (b) sugy
(D)  (2) whgw (b) sANwnereneu

155. The valve which regulates the blood flow from right ventricle to the pulmonary artery
(A) Semi-lunar valve |
(B) Auriculo-ventricular valve .
(C)  Bi Cuspid valve
(D) Tri Cuspid valve

g dear fMésaflalmhe (Qsws Epap) peorliod swalss Grésib Qsdveuamg @uiiGUDES
eumevellen (e Liumen) QU

@A)  depspdy aurddey
(BfY 2 M&EGGr QeuenNE@eant eureey
©C) mRsy eureray

D el ey

GRFT3
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157. Who among the Indian-born American scientist bagged the prestigious
Lemelson-MIT prize worth 5,00,000 dollars?

(A)  Ajit Doval
(B) Mohamed Nasheed
(C) Ramesh Raskar
(D)  Jagdish Tytler

2Qwfssrelar seyreulss eflmsmen Qaoérsen-eridguy (Lemelson-MIT) 5,00,000 L revit
Gupm QHHw sl 2GwAEs ol ghesmaf wrir?

Q) =5 Comeud
B) sy pats
@ Gy peiga
D)  géfey Lo

158. Who won the GD Birla Award for Scientific Research for the year 2016?
(A) Sanjeev Galande
(B) Raghavan Varadarajan
(C) Sriram Ramasamy

(D) Sanjay Mittal

2016 b yarg paTen Syl eyrmisdésrar GD Gier efmHanas Quppeui wimir?
(A)  a@péeu Hanairig

B) grseuen QUTSTTEREH

©) Bymd pmosms

@  s¢sainh L
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160.

. Who is the Chief Information Commissioner of India in September 20167

(A) P.K. Sinha
(B) R.K. Narayanan
(C) R.K. Mathoor
M) RXK. Koul

@bl sameamio S5610 penarTT s Geibur, 20166 mbseut wrr?

A) 9.Cs. Senapr

B) =i .Cs. prrmuemTesn

(Y <=1.Cs. gzt

D) <=.Cs. Qaared

“Operation calm down” is associated with which state?
(A) Tamilnadu
(B) Andhra Pradesh

(C) Jammu Kashmir

(D) Bihar

“ICGragen Tb Leyetr” erang) b wrblesgiL e Qs iy o e wg?
A sp Bl

B) sy ArCsen

(©F  mibap it
D) Ssr
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161. Name the Battery that shuts down on over heating and restarts when the tempera

becomes cool

(A)
B)

©
| . D)

(A)
(B)
. ©
‘ . D)

Sodium ion
Lithium ion
Carbon ion

Potassium ion

|| - apg Bamsan Gauiub ewupd Curg ey gemessiuc®. ealips Hoodd S
Quiisg Qsm_iEh?
A  Csmguwid Swef
" B)  AsHub sywaf
(O smituar sjwe
D) . Qum’ Lrélub sywed

I - 162. Name the person who was appointed as the ambassador on behalf of India to work for
cause of gender equality and progress of women in UNO for the year 2016

Aishwarya Rai
Priyanka Chopfa'
Aishwarya Dhanush

Sania Mirza

2016 <> g @&Hw Br(hseflen é-l@)LDDlS]dJ,-QLIGh"ﬁT&GﬂG.ﬂ & o flenwo Lng')gji.b Sjeuaeie

paGappsdnsns, @bSuneiar sriunes Hudléssiu L gist wrir?

(A)
B)
(9]
(D)

GRFT3

gpeveuTwIT @)Fmu
AflwkisT Gerligm
geveuuT Sy

greflwm Wl ireom
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164.

What is the name of Ganga river cleaning scheme?

A) .
(B)
©

D)

Namami Ganga scheme
Poorva Ganga scheme
Apoorva Ganga scheme

Ganga Yamuna scheme

&R HSlenw gnﬁmmuu®§§|m A L_gdlen QUi eremen?

(A
B)
©
®

B shsT LD
LpTeurm SRIsT Sl 1d
SiTeur shsT L 1b

SRIST waperm S ib

The INSAT-3DR was laﬁnched through rocket for Metereological Research on
8th September, 2016 by which rocket? '

A
B)
©
D)

GSLV-Fo05
PSLV-4
Arianne

GSLV-3

arbg Tr&EGa epeld, earteuet g rmisflsars INSAT-3DR-aw, sLbs 8, Qali_ibuir, 2016 Sjenm

flemr@euafié® Sy Lg?
@&
B)
(©)
D)

GSLV-F05
PSLV-4
<fwmesr

GSLV-3
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165. Who won the Rajiv Gandhi Khel Rathna Award for Badminton in the year 20167
(A)  Sakshi Malik |
(B) Mary Kom
: (C) Pradeep Kumar
(D) P.V.Sindhu

umC ek e efleemiumiq Hams 2016 i yerig e prgies s Gad gsem eflmeng Qupmeun
(A)  snéef wrdls

(B) Cuofl Csmb
©) QgL @i
@ 9.6 Apg

166. Which year has been declared by UNO as the “International Year of Pulses”?

4 2012
B 2013 .
(C) 2016
®) 2015

ahg UHLSmg sTeuCse LimHLIY QU(BLLOME 3. 151T. BiepLoliy Hlellsss)?

@A) 2012
B) 2013
€ 2016

D) 2015

GRFT3




Match the following :
Part-1

(a). Raj Bhavan
(b) Rastrapathy Bhavan
(¢) Impeachment

(d) Lt. Governor

(@) (b) ()
7% I 4 3
B) 2 3 4
C 4 2 3
D) 2 1 4
QumTpS)s :

u@d-1

(a) rpmggueuen
(b) r;rrrsiq.‘Lq.cruQ LG
(© @urrngGrrs elamyenean

(d) smamHlanc 2 EHHT

G) oy S
A e 3
By 2 3 4
) 4 2 3
,{‘rﬂ = 3 4

(d)

W = =D

(d)

LW = =

Part-II

President
Governor

Union Territories

ol el o A

Violation of the Constitution

uES-11

18 samgug
(@B
weflwer ArCzsmser

oW

Sirflweewii Bped
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168. The election process at the state level is superyised by
(A)
(B)
(©)
D)

Chief Election Commissioner
Supreme Court Judge

Chief Electoral Officer

High Court Judge

wrhle sereiled) Coiga penLpanpenws GupHurieeuudBueud

I @)

(B)
©y
L )

gsarevanio GHiTge penarTwi

2 ssfdloen fELS

gamaveno Cairged ifasmil

amﬁﬁﬁm@m SHuS

169. Find out the correct statement.

i The Indian Constitution contains

l (A)  XXII parts, 449 Articles and 12 Schedules
(B) XXI parts, 438 Articles and 8 Schedules
(C)  XXIII parts, 469 Articles and 21 Schedules
(D) XX parts, 428 Articles and 18 Schedules
E_ i sflwrer aursflwgens sarB19g..
@b sipflweentoli] Qanewr(Hereng).
/ :
(A)  XXII ursruser, 449 srggiser wHmb 12 2L auenamaear
! B) XXIursiiser, 438 5758861 LLHHID 8 i L cuenemraser
i
(C©) XX urshser, 469 sysgiseT LHDID 21 i1 cuememaer
D) XX unsrusar, 428 srigs6T LHHID 18 L cuenarraer
GRFT3 62 1




170.

171.

Which of the following is incorrectly matched?

(A)
(B)
©)
D)

Assassination of Gandhiji — January 30, 1948

Republic Day

Independence day

— January 26, 1950

— August 15, 1947

Constituent Assembly adopted National Anthem — January 23, 1950

QereumeuareupmieT QUTHBSTSS 6T&I?

A)
(B)
©

@l Wr& SHemid

F5HAT Send

sTpHwigser LH@sT®

- genauffl 30, 1948

- meweuffl 26, 1950

- s 15,1947

Q))/ Cslw Egsams 2dlwue fiferu sou gHNEASTETERZD — geamauffl 23, 1950

Which of the following is correctly matched?

(A)
B)
©
@)

(A)

CB),/

(©)
)

The President
The Chief Minister
Supreme Court

National Anthem

Gl LTES Sepaveult
(PSOMDEFST
2 FgBSwenpid

Casflu &0

|

Guardian of our Constitution
Appointed by the Governor
Unique Identification

Bankim Chandra Chatterjee

| lﬂérm@mmmgbgudf org) eMwns QurmpbSluerens)?

Sirflweenwber LTgsTeueit
<y esprre HlubssiuGEpm
SPLILITET <60 ITETRISET

L&A sy L)
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172. Consumer Courts are set @p in ——————— tier system.

A) Two
(B) . Three
(C) Four
(D) Five
B&iTCeurt BHLEIN ST ——————— HDSGEHNTS SewEsLUL Hararar.
ﬂ & A
B 3
u ©
® 5
|
173. 'The Tanjore king who-helped Vijayanagar king in the battle of Thalaikottai was '
I (A)  Sevappa Nayak |
| (B) Achutapp:a Nayak
(©) RagunathaNayak
(D) King Sarfoji |

sovasGar oL Curlld ellgupsr waTa@isg 2 56l Qa5 sgHms weneamer

A
B)
©)

)

Geeuliu prussT

SIFFFUIL BTUIEST

QrEpTs PTG

syGuredl wenat
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174.

175.

Which of these describes the conquest and victories of Samudra Gupta?
(A)  Uthiramerur inscription

(B)  Allahabad Pillar inscription

(C) . Thola inscription

(D) Ashokas inscription

g@gg",]ly@ug,r'r wenLQu@miiy, @Gu;bgﬁ]a;mmﬁ unil e1hs &G (H ellfleurss GOUGEEng?

A)  2587CwmT sGeulH
B st TS gner &L6C6uL{H
©) z2CaprCea soQ@eul_ ()

(D) =Carafen sQeaul_{

Who was the last Sultan of Delhi Sulthanate?
(A)  Ibrahim Lodi

(B) Sikkandar Lodi

(C)  Ibrahim Ali

(D) Dowlath Khan Lodi

QAuael sogrefugsslen sem_8 iysr wmir?
Wy @uprablib Cevmg.
(B) Aaspsi Coomy

©) @ugradib sied

(D) Gszeras srer Gomig
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176.

177.

Who built the Nalanda university?

(A) Kumara Gupta

(B)  Shri Gupta

(C) Chandra Gupta
(D) Samudré Gupta

BIaThETLI LD&EM®E Spssms HipefueuiT wrr?

(A?/ GO GLB
B Beust

©) sdyGusT
D) spsdr eust

Ox-bow lakes are formed in:the
(A) Valley region

(B) Mountain region

(©)  Plain region

(D) Delta region

GS@r @by ol 2 GaITE> LGS
(A) udragTEE u@ﬁ

B) vl uGd

(C) swQeuefl LGS

®) QuéwLrm UGS

GRFT3




178.

179.

The shortest National Highway is

(A)
(©)

NH 48
NH 45 A

B) NHY
(D) NH47A

Hesgmpbs Serwpearw Csilw ApHgssrama

A
©

NH 48
NH 45 A.

Match the following :

(a)
(b)
(e
(d)

(A)

B)
©
D)

Epssamaupenn AUTmHEss :

(a)
(b)
(c)
(d)

Grey revolution
Golden revolution
Yellow revolution

Blue revolution

@ b (©

SR R W

&mbu6 Lrlé
Qumer Y& |
Lo@h&eT LyyL_&
Bootiyy A

LB T T -
R W

ot A R o

= D = O M = W

LW N =~ W

(B NH9
(D) NH47A

Oil seeds

Eggs and poultry
Marine products
Horticulture

araT@emnis el g sser
QLeL wpmib Camflliuamenent
&L QumrpL_ger

LPEISET 2 HUsE
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180. National motto “Satyameva Jayate” hence forth appears as “Vaimaye Vellum” in Ta
announced by

(A) Arabind Ghosh (B) Periyar

(C) ‘Kamaraj : (D) Annadurai

‘s6wGLe QnuCs’ aenm irss GHaCaranar slfle eumisenoCuw Qaucdgyb eremmy wMHHLIGUIT

A)  <weins Comey B) Qufiwer

(®) &rrmgrr&r’r‘ (D)/ ST F|O]

181. Whefe was Dr. B.R. Ambedkar born?
M (A) Mhow (B) Makkavu
ll I "(C) Sarayu ; (D) Lucknow
|5
14 Dr. B.R. oubCugani erps sarfléy Gphgi?
| A wsey By )wésre~)
2 ©) &qy - (D) @&Cear
]
)
\
] 182. How many years V.0.C. was sentenced to imprisonment?
(A) 30 : B) 35
<€) 40 D) 34
au.2_&). Sleoms sewrL_enen srgg,msﬁ Sya@r(Hadr Quppmi?
A) 30 : : B) 35
€ 40 | D) 34
GRFT3 - 68

-



183. Who remarked “The light has gone out of our lives and there is darkness everywhere”?

184.

(A)
(B)
(©)

@)

Vallabai Patel
Dr. Rajendra Prasad
Mount Batten

Jawaharlal Nehru

¥

“Bib eumpedled gafl weppHa TRIED G e GRHE e L8l erand bluieui wii?

(A)
(B)
©

audeuml LuGLed

Dr. pnCmidy Gyers

weajer. G L e

B seuanierd Cum

Who chaired the first session of the Indian National Congress held at Bombay?

(A)
B)
©
@)

Madan Mohan Malavya
W.C. Banerjee
Pherozeshah Mehta h

Surendranath Banerjee

apbaLudé perL Aupp @bSu Coflw armudlydler s sl L SHDE S udlgseuT wWi?

A)

wgem Gorgen wreredlum

B W.C. uranisd

©
D)

QuCrregagr Cuwsgm

&Grpymng urerig)
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+

185.

186.

In India the orgénisation which was responsible for self-sufficiency in food production

(A) CSIR
(B) ICAR
(C) ISRO
(D) ICMR

Qw2 awrey 2 HuSH 6 senaflemay DAMLUFHE SyeRTonear Hipeieand
A)  @pfu siflefiwe wHpb AsmBonI L ey rmiiEs Slpyesand (CSIR)
B @pdw Gavermawr uymiiid Hmeuand (ICAR)

©) @pdu edamrQeuaf < TmiEsl Hmyeuand (ISRO)

D) @pdw wmssIeu IMLES Hpeuend ICMR)

Aé explained by Robert Malthus, Population increases in the
(A) Proportionate ratio

(B)_ - Geometric ratio

(C)  Arithmetic ratio

(D)  Smaller ratio

m;é;s,sir Q#nms‘@maﬁlaﬂg}gﬁ@ Faf&fpg ére&rgl FrLTL TSED Safluig)
A)  edgrsamy el dlzss8e

B Qupsss fssH

© =@ ddssde

D) Ap AdssHe
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187. Which plan was implemented after the Annual Plans of 1966 — 69?

(A) Second Five Year Plan
(B) Fifth Five Year Plan
(C)  Third Five Year Plan
(i)) Fourth Five Year i’lan

1966 - 69 e HaEnsE (pan® S kser) Qe peLapapliLBSsILL L BHsTe( S b e1g?

A)  @ueawrLmb ghsran® HLib
B) gbsTd pHsTETH HLLb
©)  aperpmd pHsTETH S Lib

(D)  premamd ghHsTETE HL LD

188. “Bachpan Bachao Andolan” is an organisation that fights against
7 (A) Child labour

(B) Bonded labour

(C) Child marriage

(D) Poverty

“umumer LEGETE BiBCHTWET” cTeY DEMLOLIL| EDEERTL cUDDIGT Grgﬂ)asrre_s QewoupHpg?

A)  Eybws Agmeref
® Qanggig e -

(©) urddw efeursd

D)  eaupew gPiuy
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189. The base of a triangle is four times its height and its area is 50 m2. The length of the bass

L@
®
©
0)

10 m
15m
20 m
25 m

R0 WiCatamilen oiq LS, 2 wrsHlen 4 L _fiGHEES swb wHmb s Lytiuaey 50 82 @

DS Diq LILIES D|ETEY
(A) 1048
B) 1568

@ 208

(D)

25 8

190. A can do a piece of work in 20 days and B can do it in 25 days. Both of them finished ¢
work and earned Rs. 3,600. Then A’s share is

A)
B)
(©)
)

Rs. 1,600
Ra‘. 2,000
Rs. 3,000
Rs. 3,100

A 806 Gaumareows 20 prisafigud, B wiang 25 prisefigid Qaiig apgliui. Bmeaumb Csig

ScCaima@ws Aaiig @m. 3,600-g rlgamd si50srasda A-ar ukis

& . 1,600

®B)
(©)

)

GRFT3

. 2,000
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. 3,100




-4 3x S
191 - —Tf [l] x[lj =(%] ; then the value of x is

12 12
@ -1
® 1
©
®) 3

—4 ‘ 3x 5
_ [52—} x(-%} =('112) erafled x-ei Ly

A5 =]
® 1
© 2
® 3

192. If 22 men can build a wall of 110 meters in 10 days. The length of a similar wall built by
30 men in 6 days is

(A) 100 mts
(B) 90 mts
(C) 80 mts i
(D) 70 mts

f 22 gyl adr 10 prisefler 110 8 Barqperar seuany siig Wuggre, 30 g sdr 6 prisafld s

: WPig&EWw seuflen Bard
[ @) 1008

®) 908

© 808

@ 708
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103, - If the ratio of length and breadth of a rectangle is 42T Bitel #he lenigth while its broall

77 cm.

A

®B)

©
)

22 em
33 cm
44 cm

‘55 cm

@0 Qsaausifen for sswmsaear lfsn 4: 7 @Ebh. ssan 77 Qa8 dald oigdr B

' ST
| (&) 22Qs18
B) _33Qs.8
l 44 Qg8
55 Qg..8

D)

194. Aroomis5m 40 cm long and 4 m 50 cm broad. Its Area is

| = W
®)
©
)

@ mpwrarg 5 18 40 A8 Serapb wHmb 4 15 50 Q&8 s pb QsrarHerarame erafld <

© uptueTey
(A)  23.4 182
(B) 24.3 .8
(©) 258
(D) 98.01.5

GRFT3

23.4m?
24.3 m?2

95 m?

98.01 m?
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195. Simplify

) 5—1—+4§+7—'5—+61+11-el
3 -4 8- 8 4
98 108
A — ; B =
(A) T ‘ (B) 5
98 ' 96
o — D) —
©) T (D) T
HMHEGS
aiasaalaed 138
4 4 §-R 4
98 ' : 108
= 108
(A) T (B) =
98 : : 96
C e ! ==
(©) T (D) 77

196. Find the rate of interést at which, a sum of money becomes Z- times in 2 years.
A 693%
B) 673%
© 621%

D) 611%

2 @ sFnangl 2 aumL S % LRSS 2G0wafld, Diger el e8sh Gr_é.téumm?

@) 691%

& e1i%

© 621%

D) 611%

75 GRFT3
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197.  The breadth, height and volume of a cuboid are. 10 em, 11 cm and 3080 cm?® respect1

Find the length of the cuboid.

(A) 2lcm
® 28cm
(© 24cm
I D) 30cm
: R0 s Hscicusslen s, 2 Wb, sarsiarey @Giﬂg)@u.u 10 @=.5,, 11 Q&.8. whHmb 3080 @
l crafled gen Barseng seawr_Ha.

Y ?
Le A) 21Qs.s.

g [
I b B 28ass
0L, 3 (C 24 Qs.8.
30 Qs.i5.
:ﬁb & e T
o b | z2
! 4° el e -K
R oAS 4L
[ Il =] o
! /1‘9'( Which medicine is known as “THE QUEEN OF DRUGS™
' (A) ATROPIN S
| L4539 | 2
i ~(B) POLYMIXIN

| (©) STREPTOMYCIN
| (D) PENICILLIN
i, ' 2/ BeAD mA >
“wopgisean Grrell” crar SiepssILELD WLBHE GUITHET o5 ?
Q) i CymQer : ‘
(B) urraS]uSlésé]e’aT

©) e QriCLrandar




199.

200.

(D) ab®

A man bought an old bicycle for Rs. 1,500. He spends Rs. 500 on its repair and sells it for
Rs. 1,800. Find the percentage of his loss.

S

A 10% 2,

@ : __f‘\,’ls 7£° \4'\"‘% 207
® 15% | a2 a5 7s
©  20% 2ok @ ' SR

A

g )
D) 5% - W

L
: Q-
@oat . 1,500-65 @@ uapw Bfauangomw aurhd idd @m. 500-5@ u@g&:snwg@e‘,]mm‘r

waele et ps WHauamrgeow @ 1,800-&g Apdpri caflldr eum SeoLujd Heigl

&ga‘ilé]ggmgas STEHT. ; /\

' \% 5&9 &\/"

©) 20% «
® 5% g k/\ e
% A

: ; (Z (9

' \\ozpo = q’% )
2N £ X
Find the LCM of a%b*, ab® and a2’ ; f“\g/ 0\4( \/
@A) a'b? . :
M :

a’b’
®) \\Q??) ;
© o’ %0 ,

3 ‘ %00 .
@) ab’ Q07,8
e

0354 , ab®, a®b’ a8 Qur.. sraws.
A a'b® : \\o

(B) a3b7 : \g\

©y o

By e \
5 Wc) [Turn over




